Question T of 10 Question 2 of 10

Which of the following is in increasing order Which of the following is correct

Choose one Choose one
B RS | 2>4
LIh=100 2 1<0
@ 5 1 R O 35-T
L& Pl 8 O -1<0

Question 3 of 10 Question 4 of 10

Sum of two positive integers is always- What will be the additive inverse of -1 ?

Choose one Choose one
@ O -
L I ) 0
) Negative -2
) Positive Q1

Question 5 of 10

Which of the following number forms a pattern

Choose one
(0, 2.3 4

(V2 4k
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Question 6 of 10 Question 7 of 10

Which of the following will give answer with ne¢Which of the following statements is false

Choose one Choose one
QO -48+79 @)
48+ (-39) O 4<-5
- 48 + 30 O 4>-

O -40+40 Q

Question 8 of 10 Question 9 of 10

Sumof-10,-5and 12is 39-50is
Choose one Choose one
® = ) Not possible
O -3 O -8s
O 27 ®
Q 127 10

Question 10 of 10

Sum of a negative and a positive integer is -

Choose one
Always negalive
Zero
@® either positive or negative

D) Always positive
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Question 1 of 9 Question 2 of 9

The preceding number of - 1 on number lineis: 2 steps to the right of - 1 on number line gives:

Choose one Choose one
0 0 @
er. O 1
D -2 C -3
i S

Question 3 of 9 Question 4 of 9

7 steps to the left of 4 on number line gives:  Which number is 5 more than - 37

Choose one

Choose one
O 1 O -8
O 3 O 2
D -3 J |8
= ) -2

Question 5 of 9

VWhich of the following set of numbers is in descending orders?

Choose one

Ci10.-1.2
O 0,1.2,3

Ci-8-2.14.,0
Q22,11
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Question 6 of 9 Question 7 of

r 1 M rp :
What will be the opposite of 3 Km south? The integer succeeding - 9 is:

Choose one
Choose one

2 km north east

) -10
O 3 km north o
() 3 km west y L3
3 km east O 10

Question 8 of 9

Which of the following number is greater than - 1

Choose one

O 0

0 -2
QO 10
Q -3

Question 9 of 9

What number is being represented by points A and B respectively on the number line:

el il
0

Choose one
) 2and3
D 3and2
D 3and-2

0 -3and-2
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Question T of 10 Question 6 of 10 Question 4 of 10

Sumof-30and-12is The number 3 less than - 2is  Absoclute value of - 11 is
Choose one Choose one Choose one
O -18 O 5 O -1
C 18 O -1 O 10
O 2 O 1 O -H
O 42 O i5 Q in

Question 2 of 10

Which of the following number is not to the left of -10 on the number line ?

Choose one

O 12

Question 5 of 10

Which of the following numbers is to the right of -3 on number line ?

Choose one

O 5

i
[#]
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Question 7 of 10 Question 8 of 10

The number of integers between -2 and 2 is- SO RG IR

Choose one

Choose ane
) ) Neqgative
O 4 -
) ) Positive
o i
— .:I_.:I O
QO 3
) O i1
|_'_ 2
Question 9 of 10 Question 3 of 10
Sumof-14and 9 is The opposite of -7 is
Choose one Choose one
@ Y
1 23 L) ]
J <23 ()6

Question 10 of 10

In addition and subtraction of the integers the sign of answer depends upon

Choose one
Their Difference
( Smaller Number
(U Greater numerical value

Their Sum
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